<arvJur>

FR2IFEREBK-TRAEBRFJILAXREHEFANHEFERS

61

64

62

60

63

63

63

— B O FR27510F4H
<
S S <auL>
L S _
' i EE by o BT M¥ BE
, RE L& BRE 60 B¥ Hik HE
b Bk HE 63 g0 PR #fE han7y
3 K& 21& FFTC 61 53 5 E‘rﬁ?ﬂfﬁ—ﬂﬂ bOTY
#6Ak A FFTC 0 TH BE EM 60
s BE BE i FE B2z EM
FE Bt Ly 63 29 ﬁ%lliﬁ g l/“)Zg
o f8iE BhR® RTT 62 g8l Az byd
HO SR 7Lk 61 o5 23 =H K ’5‘71‘ 65
¢ JoBE KE LAFUR s @E_{E ban7y
E3 H— LasuR 3 24 HH EE IR
; BER 3 hnTy 63 57 T H B LA
EEE I f07y 25 A8 K EZ
BH# X5 You 6 = M ) R : 62
8 &5 —H vou o ERE. 61 LJpe BZF BAF —i
o EW BIE EM 61 = ik BA  —fi%
HF*F A TN | 62 g7 Bl BZ ILY:
jo A # Lz 62 [ 62 £F Eh A
_______ I K& b BB U
" mm ®E 70 o4 62 g9 BH Bt Lya
, K& EfE [EAN 61 q 5 AH KB LA
KiE EH EM 50 WL E% S 62
13 PE =  &F = ¥ T oty
il R S 4 4 BT 5k BE
14 TARF FAR banTy %5 HE #E B
Bl K& boTy 60 o4 392 ?‘e‘ fi_ TIvb 61
5 PR BR= LA =3 af EX 7ub
Hax=H LyA 33 ﬁ&fq = YOU
16 INDS R F4 WO Eagl' ¥rd YOU
2R B4 F4 T g4 BEA Ef FE#N
17 ML & hoTy 63 *“ZF *QE E*_l] 60
B 3 bangy 60 35 JEL #L hamTy
13 mz%#f,ﬁ EE 64 T g% ﬂl; b:l_gzy
FO T 'R v EN S -
- %Egi % k@ BAR FFTC

65




FRZIEERRBK- TREBRITLAREREBBHEFERS

FR27%10848
— iR ZFDEB
<avyr> K X H > <avyr>
1 #HK HDY[ FFTC i EE MF| wr
- TR HPH| FFTC INE B [ byr -
) BH XE LyR 61 63 " == F4
|_ B BF| BE B =FHR| F4
P 3 #l =¥ | You 65 WO 5 FHHMF | EM
=)l 974E| You EEHRHF | LyITS
65 A Mk &F | EF 62 63 " T#k LLII| FFTC 63
BE E | MrYUR £F NI | FFTC
#HARAOY 64 BL BB Lya
5 BYE 17
HHHPH AT #iF | You -
6 HE EF| WA 62 62 8 FExE 28| HE
g BT | hany 60 65 BAR #&F | haoTy
. BF mEF HE 62 9 e Fm| WA |
- % X£F0 | hanRTy BT FH|[ wx -
o ki FF| EF 61 32RTE 20 Fik 8 &5E
hE AWE| EFM ME ¥ | SMAX
o EFX BF| FHE 62 56 o1 mE FE| by
& % Lya’ {E BATE | hapTy
61y 0 FH OWF| bwr 64 64 - wiE BEF| RE 61
=M tHF| LA WiH EEF| F4
» =R 7437| HE 61 62 23 K& BiF | FFTC
- BER %m| hanry KH %% | FFTC -
i RiIE AEY| EF 61 60 24 BA B ATILR
BE EX| EM FHET TEH F=F| EM
ME ¥

65




ER21EERR

/)

N

MR- TRABRIITILAKRE

LR

TRk274E10H4H
50LLEDE BF
AJOvs DJOv4
A1l A2 A3 A4 % — & [T E1 E2 E3 E4 BE—8 | lEfsL
BHO # @ Ef _ _ _ EfH %8 KB _ _ _
Al o fragle 6-0 6-0 x 2-0 1 E1 )1 280 YOU 6—1 6—3 X 2—0| 1
B8 E{T NI B _ _ £F B EF _ _ _

A2 il ﬁi S 0-6 x 6-1 1-1 2 E2 ;!,‘3"3 Ei rgﬂn 1—6 X 6—0 1—1 | 2
Hih = LyR” 5 B B SR — R _ _ _
Asgé,%fig lri’; 0-6 X 6-5 1-1 3 E3¥ﬁi{£ﬁ- %1— 3—6 X 6—2 1—1| 3
ik M R _ _ _ WA Edh B _ _ _

Ad BEAR =4 A X 1-6 5-6 0-2 | 4 E4 =% TR 4o X 0—6 2—6 0—2| 4

BJOvy EJOvY
B1 B2 B3 B4 % — & [T F1 F2 F3 F4 BE—8 | lEfsL
WA HESE I ATILR _ _ _ S BxX | 7Y _ _ _
B1 ;iiﬁ, ?J;_ 6-3 6-0 X 2-0 1 F1 ﬁﬁ%é e 6—4 4—6 X 1—1 | 2
54 BH £ 0 _ _ _ T B3E  FFTC _ _ _

B2 f”" ,ﬁ% E;u 3-6 X 6-4 1-1 2 F2 Eﬂ”"%ﬁi FFTa | 476 X 6—2 1—1 | 3
JIR £ 0 _ _ _ Sl YOU _ _ _
B3£§:£% ZE*D 0-6 x 2-6 0-2 | 4 F3 ?&gia YoUu 6—4 X 6—5 2—0 | 1
EFE &— R _ _ _ oD _ _ _
B4$#%B§ o X 4-6 6-2 1-1 3 Fa SE sk 95 X 2—6 5—6 0—2| 4

cJowyy
C1 c2 C3 C4 B—8 BhL REBER—F AV
o oE— =B R R _ =0 &
C1 R W e 5-6 2-6 X 0—2| 3 1 MIE Fa C1
RE BE— EM _ _ _ SR BEX 62
c2 B4t 3R] 6-5 X 6-4 2-0| 2 2 A R F2
HH BuE EM _ _ _ £F EBE 65
c3 o %? prie 6-2 X 6-2 2—-0| 1 3 IR %é E2 57
Th FE F4 _ _ _ s
c4 25 i Fa X 4-6 2-6 0—2| 4 4 =E & F1
5 =2 E- A2 65 HA #
HI Fx | AR —t
1. NBRLRTE A E: 6 E¥H &8 E1 65
O LIRS
Q2F—LHEERDGE. BEEMROBE SRR TE N - 3: 61
EIERAEWNGE . S —LR=BY Y —L B5—L A EA
SF—LULENREDGE, BT —LE=]ET—L BT —LA 8 BA BE— co
R Crry Ex 63
9 FAK B B2 65
2. RB—F AV PORO—([THEELET, A E
10 HO 73 A1 60

EAR —th




TH2IEERRBAK-TRATBEITILAKRE
TR27410848
50U EDE &F
FIOys HIOvs
F1 F2 F3 % — & | IEfL H1 H2 H3 H4 B — & | IIEHL
F1 .M” @}HL ?E 6—2 6—0 2—0 | 1 H1 HiR EL‘% FFTH 6—5 6—5 X 2—0| 2
BA E2F REBE HE EE | FFTH
F2 '%i‘ = F4, 2—6 6—3 1—1| 2 H2 /B =F BE 5—6 X 4—6 | 0—2| 4
= BlF LyA B E#F EM
k% phY FEE IMNREBEE | EM
F3 0—6 3—6 0—2| 3 H3 5—6 X 5—6 | 0—2]| 83
AR 8% EM MTARALDOA | EF
me BHEF Ly
H4 X 6—4 6—5 2—0 | 1
BH BF HR
ewislily)
G1 G2 G3 i — & | B4z REER—F AR
g1 BE BXT LA 6—0  6-3 2—0| 1 —
Ki E£HF FFTC 1 =% EET .
op R BHE ERM | a6 ozl a K5 287
INSEY BRF RN 5 =R &1 Eo 64
o3 THEF nM| 6—3 =11 2 HE HIF
WA HF NIILR 2 AE Bh3E Ho 64 2/F BpYF
HE EE EA BEF
hEt FF 63
4 G2
WK FF
5 a_2F pYF F1 60
1. IBRERER % BA EETF
O 6 me mEF H1 62
Q2F—LHMREDIGE. BEEROBE H BF

EEMRAGVGESR. BIGT —LER=IF7 —L BT —L

SF—LULNREDIGE. NET—LE=NET—L 75 —L
® vy

2. REb—F AU bORO—THEELET,




